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#include <stdio.h>

int kaijyo(int n); // 00000000

int main(void)

{

int nx, result;

scanf ("%d” , &nx); /
result=kaijyo (nx); /
printf (7%d!'=%d\n”, nx, result);

oooaod
oooogao

/
/
// 000000

*000000 MOo0ooooo0o00 mMmoooooo




14
15
16
17
18
19
20
21
22
23

25
26
27

return 0;

//========== 0 00000000C(O00000)===============
int kaijyo(int n)

{

i (n==0){
return 1;
telse{
return nkxkaijyo(n—1);
}
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#include <stdio.h>
int main(void)
{
int hoge=3;
int xp;
p=&hoge;
printf (”hoge=%d\n” ,*p);

return 0;
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#include <stdio.h>

int main(void)
{
typedef struct{
char name[16];
int math;
int info;
}student;

student yama={”yamamoto” ,72,83};
student =xp;

p=&yama;

printf(”name = %s\n” , p—>name);
printf(”math = %d\n” , p—>math);
printf(”info = %d\n”, p—>info);

return 0;
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name = yamamoto
math = 72
info = 83

p IEI 5%EETRLXR
student
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name math info
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hoge [i] = * (hoge+i)
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#include <stdio.h>

int add(int i, int j); // 0D0O0Oooooano

//============ Q00 [ 0===============================

int main(void)

{int (xfp)(int, int); // 000000000
fp=add ; // 0000000000

printf (”%d\n” ,fp (5,9));

return 0;
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//============ 0 0000000 ==ssss====================
int add(int i, int j)
{

return i+j;

}
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#include <stdio.h>
#include <math.h>

void print_func(double (xf)(double)); // 0000 0O OO

//==s===== OO0 00O ==s===========s==s====s====ss===s====s===z===
int main(void)
{

print_func(sin);
print_func (cos);

}
//========== 00 0000000O00OLO ============================
void print_func (double (xf)(double))
{
int i;

double dx=0.1;

printf (” \n” );
for (i=0; i<=5; i++){
printf ("%f\t%f\n” , ixdx, f(ixdx));
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#include <stdio.h>

int main(void)

{
char sanimal[]={"cat”, "dog”, ”rabbit”, ”horse” };
printf(”1st : %s\n”, animal [0]);
printf(”2nd : %s\n”, animal[1]);
printf(”3rd : %s\n”, animal [2]);
printf(”4th : %s\n”, animal [3]);

return 0;

}

1st :
2nd :
3rd :
4th

cat
dog
rabbit
horse
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animal [0]

animal [1]

animal [2]

animal [3]
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int **hoge, *fuga, a;

fuga=&a;
hoge=&fuga;
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